RETAN Bl& B2E% %5|ES0ERE 02

RD )X (SHk25®, A4s®, B4, CH145720%)
(1) Ax09=AOD %71 & (2) AxX08=AOD %5 =
(3) Ax06=AD 9% Tk (4) Ax04=AD %
(5) A x098=AD %15 = (6) A x084=A® 9% Ik
(1) Ax073=A®D %5l E (8) Ax024=AD % T
(90 Ax099=AD 9% Ik (10) A %0999 =A D %15 =
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RD DX (S22, Afh4s®, B 14y, CH14320% )

(1) AxX07T=A®D %5 E (2)  AxX05=A®D %5| &
(3) A x096=A®D 9% Ik (4) AX075=AD 9% Ik
(5) A x082=AD %75 = (6) A x0.66=AD 9% Ik
(1) Ax032=A® %5 = (8) A x00l=A® %%
(9) A xX0975=AD 9% Ik (10) A x0.802=A O %5 =
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RETAL BlI& BSE% %IIZ0ER 02 HBERSR

RD DK, (ST, A5, B 1y, CH15720%)

* TTDEDEIGIF 1

(1) Ax09=A®D]| 10 |%H|= (2) A x08=A®D]| 20 |%H]|x=
1-09=0.15% 1-08=0258%
0.1 x 100 = 10 % 5| = 0.2 x 100 = 20 % 5| =

(3) A x06=AD| 40 |%I (4) A x04=AD| 60 |%H
1-06=045% 1-04=0658%
0.4 x 100 = 40 % 1| = 0.6 x 100 = 60 % 5| =

(5) A x098=AD| 2 |%5|x (6) A x084=A®D]| 16 |%Jk
1—0.98=0.025] % 1-084=0.165] %
0.02 x 100 =2 % 5| & 0.16 x 100 = 16 % 5| =

(7))  AXx073=AD| 27 |%3| = (8) A x024=AD| 76 |%IF
1-0.73=0.275] % 1—-024=0.765] %
0.27 x 100 = 27 % 5| & 0.76 x 100 = 76 % 5| &

(9) A x099=AD| 1 |% (10) A x0999=AD| 0.1 |%5] =
1—-0.99=0.015% 1—0.999 = 0.001 5] =
0.01 x 100 =1 %H| = 0.001 x 100 = 0.1 %5 =
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(1)

(3)

(5)

(7)

(9)

Ax07=AD| 30 (%5
A x0.96=AD| 4 |%IH

Ax082=A®D| 18 |%5| X
Ax032=AD| 68 |%5|x
A %0975 =A D | 2.5 |%ik

(2)

(4)

(6)

(8)

(10)

DX (S22, Afh4s®, B 14y, CH14320% )

Ax05=A®D| 50 (%5
A x0.75=A D| 25 |%i&
A x0.66 =A D | 34 | %I
A x0.01 =A @D | 99 | %I
A x0802=AD| 19.8 |%5l &
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